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11. She hard to solve the problem
a. believed b. tried c. felt d. showed
12. She up in Rasht. It means that she lived there when she was a child.
a. grew b. stood C. put d. looked
13. Tahere Saffarzade learned reading and the Holy Quran at the age of 6.
a. inventing b. growing C. reciting d. speaking
14. Edison didn’t school and learned science in his library.
a. quit b. feel c. attend d. built
15. The children were playing in the yard when their parents
a. arriving b. arrived C. arrives d. were arriving
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